RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4432-33.dwg, TX-4432

PRODUTCTS, I NC.

8811 West Market Street
Colfax, N.C. 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glozed Fiberglass Door system described herein complies with the 2006
International Residential Code {IRC), Sections R301 & R613 and the 2006
Intemnational Building Code {IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
{including Texas revisions} subject to the following conditions:

1. Anchors shall be os listed and spaced as shown in the details. Anchor
embedment fo base material shall be beyond wall dressing or stucco,

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the [RC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal fo or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis,

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astraga! details [Ultimate Trilennium)
Door panel details (iip lite insert glazing)
Door panel details {flush glazing)

Harizontal cross sections
Vertical cross sections
Frame anchoring

SO~ | W RS

73.97" MAX. O.A. FRAME WIDTH

81.94" MAX. O.A. FRAME
HEIGHT [INSWING)

81.125" MAX. C.A.
FRAME HEIGHT [OUTSWING)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.656.9197

P.O. Box 230 Valrico Fl. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepcred By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11B52

ENDURA

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

oate: 1/16/14

scale: N.T.S.

DWG. BY: JK

CHK. BY: LFS

XX LIP LITE INSERT |  INSWING +40.0 -45.0
XX | LIP LITEINSERT | OUTSWING +35.0 -35.0
XX |FLUSH GLAZED | INSWING +45.0 -45.0
XX | FLUSH GLAZED | OUTSWING +55.0 -55.0

DRAWING NO.:
TX—4432

sHEeT 1 oF 7

© z014 R.W. BLiLDING CONSULTANTS NG,



TONE BANYLTASNDOD ONIOTHNA M'H ¢ LOZ
ZSeL1—d # NOUVAISIONY 40 RUVOLILNIO (WINNTTIEL 3LYWILIN) SNOISIAZY
SHIINIONT WNOISSISO0Hd 40 AYvVOR SvX3l AH 31v3 {ON
£B1B'859°CL8 I"ON SuUOyd STVLG TPOvRIISY N SIES r - 7_
G8CCC 14 OOLIDA OCZ xog .O.MS@. }J&:MWW( W_O PI{& m M -~ - M _.Or
ONE CSINVINSNOD ONIATIN N - g v_n 2_
~ . iekinle 2
£Z1y0L# “3'd SVGEL YHNON3 96ty : m
“3'd WPHUYDS 3 uopull  :Ag pedoded EURLINDOG “EDNGONd HEIHEE &
Q S
™ W01104
I * | 1
! o~
o
o~
(]
o , WS9T
— c
b
. - 3
s il & 2
9 o= T8
3 S
= ©
Q 2 © <
5 o 9
< )
i ol Z
& = ¢J
— z O
[ H5 H) —
N o w
NG ] <
o z
(@) [o]
T o
O _ <
=z i I
< 2
e 8
~0
i
<
[
~t
&
L=}
m~
1
| Y
40l
©
B —
o £
vy D
= E
8t .
5 <
= E Q
=
PN ) nuN
i
W Y/ —— Z
\ ¢ =
= & € -
nm W [ i Z
i 53 3E Z
a g E Ry a & T
~ND SQoc o< ]
go] - =D [a"
] s} e O = [e]
o foa) R [e XN T} s [T—
E ios] &< Lt
% S © 0 =
K E — = <C
o = o
£ 5 =
< —
wd
\ } )
B - —— — . & - z

Z-T ‘BMpEE-Zerr-Xi\sBuimeid D8MmY ‘a\G£9T Jd\D0LT - TO9T feud\suapio4 1afoudhs1aaloid - vvy




RMA - Projects\Project Folders\Proj 1601 - T700\PF 1675\D. RWBC Drawings\TX-4432-33.dwg, 1-3

STILE
[WOOD COMP.)

o r 175" ﬂ

L

i

35.75" MAX.
PANEL WIDTH

21.0" MAX
D.LO, WIDTH

L

INTERIOR

I / -

EXTERIOR

STILE

(WOOD COMP.} ‘\

1.6 — -

/"1 \ HORIZONTAL CROSS SECTION

79.25" MAX. DOOR
PANEL HEIGHT
63.0" MAX
D.1L.O. HEIGHT

MASONITE
Insert glazed
{fiberglass)

#6 X 1-1/2" PH SMS

INTERIOR

GLASS BITE 1/2°

o

yi

EXTERIOR

LOW TACK SEALANT

1/8" TEMPERED GLASS
as"é: AR SPACE

"~~~ 1/8" TEMPERED GLASS

STEEL SPACER
QSO SEALANT

GLAZING DETAIL

G Lip Lite Insert Glazing

1/2" NOMINAL GLASS THK,

L m"-n?‘hj -,

TOP RAIL
(WOOD COMP.) [

<
#
%
£y

L)

1.7"

FIBERGLASS SKIN

(0.075" MIN.) x :

Vi
[/

INTERIOR EXTERIOR

¥/i
L

A

FOAM CORE
(POLYURETHANE }

BOTTOM RAIL
{WOOD COMP.)

--n-—-]]"-—--

-

@ VERTICAL CROSS SECTION
3

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Docurnents Prepared By:

Phone No.:

ENDURA
PART OR ASSEMBLY:

PRODUCT:

DOOR PANEL DETAILS
(LIP LITE INSERT GLAZING)

NC.| DATE

REVISIONS

oATE: 1/16/14

scatf:  N.T.S.

DWG. BY: JK

CHK. 8Y: LFS

DRAWING NO.:
TX—4432

SHEET 3 oF 7

© 2014 R.W. BUILDING DCONSULTANTS INE,



RAA - Projects\Project Folders\Proj 1601 - 17000PF 1675\D. RWBC Drawings\TX-4432-33.dwg, 14

STILE STILE
{LAMINATED WOOD} (LAMINATED WOOD)}
EXTERIOR
¢ INTERIOR e
@ HORIZONTAL CROSS SECTION
4
35.75" MAX, _
PANEL WIDTH
21.0" MAX . _
D.LO. WIDTH GLASS BITE 3/4"
4 EXTERIOR POLYURETHANE SEALANT
— 1.0" NOMINAL GLASS THK.
- 1/8" TEMPERED GLASS
= AR SPACE
s
5 "~ 1/8" TEMPERED GLASS
| I and
Q5 %0 1 STEEL SPACER
~@ 33 S INTERIOR
<L 5 4
=g &0
h% ©°4
N o
=
52 GLAZING DETAIL
Flush Glazing

MASONITE
Flush glozed
{fiberglass)

TOP RAIL

[WOOD COMP) ™ ™|

FIBERGLASS SKIN

{0.075" MIN.} \ :f

INTERIOR

FOAM CORE —._ | :

[POLYURETHANE )

BOTTOM RAIL

(WOOD COMP.) ™| RS

0.

EXTERIOR

0-9H

175" =]

7“2\ VERTICAL CROSS SECTION

\4/

hjn
L~
23 @
Eg a ﬁ
e -
au gh ¢
L —dr-. |
.do
S oolg
° sa %
g Lo =
a3 ds@ B
"’>HE
Zowm
o n Q
& 9% [
o xz
b o L
b gmg o
% 598 8
¥ mn.n.g
:
T
] e;
E g
3
3

CERTIFICATE OF REGISTRATION # F—11852

)
=
<
L=
RN
& oy d
> = Lo
S o Zx
& 2 g
g xg
N < 8\,,
= x| &
é o
[
e g
a o
S
m
)
bd
O
)
o
L
<<
P
O
z
oate: 1/16/14
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4432

sHEerT 4 oF 7

© 2014 R.W. BUILDING CHONSULTANTS ING.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4432-33.dwg, 1-5

1/4" MAX,

rrrrrrrr L

2X FRAMING P

(G >=0.42) —\

SHIM SPACE A
EXT. SHEATHING ‘—} P)

e #10 X 2.5" PEH WOOD SCREW
—

— JAMB
ENDURA WEATHERSTRIP

{QEBD/PE 650)

INTERIOR

X

2

\

DRYWALL /
#8 X 2.5" PFH WOOD SCREW
#8 X 3/4" PFH SMS

m HORIZONTAL CROSS SECTION
\Sj Inswing shown - Outswing also approved

EXTERIOR

#8 X 1" PFH SMS

4" HINGE

=t
|

y | TRILENNIUM
/ / SERIES 3000 MULTI-POINT
// y // LOCKING SYSTEM
/ /
‘ CORNER PADS (TYP.)
/ .
34N
6 N &/

ULTIMATE TRILENNIUM ASTRAGAL

ENDURA WEATHERSTRIP

{QEBD/PE 650)

N

#8 X 3' PFH WS
#8 X 1"PFH WS

/— DOOR PANEL

A\
A\

@ HORIZONTAL CROSS SECTION
5

Za./;/

Lyndon F. Schmidt, P.E,

TRILENNIUM
SERIES 3000 MULTI-POINT
LOCKING SYSTEM

TEXAS P.E. #104123

813.658.8197

P.O. Box 230 Valrlco FL. 33595
TEXAS BOARD COF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Phone No.:

Documents Prapared Sy:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL
CROSS SECTIONS

BY

NOJ] DATE

REVISIONS

pATE: 1/16/14

SCAte: N T.S.

DWG. ay: JK

CHK. BY: LFS

DRAWING NO.:
TX~4432

SHEET 5 oF 7

© 2014 R.W. BUILDING CONSULTANTS NG,



RMA - Projects\Project Folders\Proj 1601 - 170(0\PF 1675\D. RWBC Drawings\TX-4432-33.dwg, 1-6

CERTIFICATE OF REGISTRATION # F—11852

DOOR PANEL —\

] 2X FRAMING om

e - { N
> [G>=042) g% )
1T B2 g b
! A g ] §
EXT. SHEATHING | / DRYWALL s ; gy @

ST c -
N\ Ry
7 55 558 g
//—— #10 X 2.5'PFH g0 ‘E’
/ WOOD SCREW 5 887 %
1/4" MAX. D
SHIMSPACE | i T
SEE R
(] U | el ¢ g S
|1 : é
E &
1 §

\— HEAD

ENDURA WEATHERSTRIP g
(QEBD/PE 650) 5
Ly
[¥)]
EXTERIOR INTERIOR & n
. E— 3 |38
z | &
71\ VERTICAL CROSS SECTION R = I
UOuiswmg shown - inswing q I
also approved y E
©ry
&
o

PRODUCT:

INTERIOR EXTERIOR EXTERIOR INTERIOR EXTERIOR INTERIOR >

—————  DOQOR PANEL
ENDURA WEATHERSTRIP k

¥/
[QEBD/PE 650} DOOR PANEL x DOOR PANEL
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP
(Z-SERIES OUTSWING) (DBK-R) % [DBK-AC)

ZOB4565FN {shown) ENDURA THRESHOLD ENDURA THRESHOLD
(Z-SERIES INSWING ADJUSTABLE} (Z-SERIES INSWING ARTICULATING)
ZAI4565FN {shown) IACA4565FN [shown)

REVISIONS

MR

Nk |

z 3 <
.“:V :?j 0
1, ‘:f %
#10 X 2.5" PFH WOOD SCREW #10 X 2.5" PFH WOQOD SCREW #10 X 2.5" PFH WOOD SCREW oaTe: 1/16/14
) ) 1/4" X 2-3/4" ELCO OR 174" X 2-3/4" ELCO OR st NTS
1/4" X 2-3/4° ELCO OR .J.5.
ITW CONCRETE SCREW TW CONCRETE SCREW TW CONCRETE SCREW owe, B JK
CHK. BY: LFS
/" 2"\ VERTICAL CROSS SECTION /3 "\ VERTICAL CROSS SECTION /"4 "\ VERTICAL CROSS SECTION BRAWING N0
w Ovufswing shown w inswing configuration \y Inswing configuration TX—-4432

SHEET 6 ofF 7/

© 20714 R.W. BUILDING DONSULTANTS ING.



s ;_, 2X framing {by others) ;_1 8
gOX 85, fo
=G &' E® 2 u«
IO ' o e G s 9 &
3 O (TYP.) ] Bu gl 3
Y o (TYP.) & Astragal Strike Plate e E a5 Gu
I" {TYP.) ‘ @ Head Jamb g j b= 3’*
F— .g g 8 a Q 5
— I I i\& ] / g 2 53 QE
SEE HINGE . T - r‘:]‘ n-2 M
DETALT M T | omAL & "o uil s 8% P2
t v ‘\\ v ¢5Z ul
= CE X £ g§s %%
I~ 1N ___ e " o o]
o3 I #10 X 2.5" PFH WS g 325 gg
' o
: i
j . \ I DETAIL 1 ¢ gﬁ
[29] £ 8
. 0 |5
: e ) ) Q
| | ] 3/8" DIA. HOLE 8
SEE HINGE ” | \ #10 X 2.5" PFH WOOD SCREW
DETAIL 2 | i 1 1/4' X 2-3/4" ELCO OR
I ﬂ S TW CONCRETE SCREW ©
> & S [
- || —DetaL20r3 43 | === s S
- - ) e
* * 0 J DETAIL 2 a |z 2
T 7 ~0 - - / & g =
] <
// //// i ol &
0 o
4 ‘Z,T”T-}{P #10 X 2.5" PFH WOOD SCREW DETAIL 3 2 =
(TYP. == 4P 1/4"X 2-3/4" ELCO OR & &
HINGE JAMB ¢ TW CONCRETE SCREW ASTRAGAL PIN CAPTURE COMPONENT =
TYP @ SILL o
FLOOR SUBSTRATE MATERIAL {TYP.) FRAME ANCHORING ! )
CONCRETE {MIN. 3000 PSI) XX
WOOD (G >=0.42)
*NOTE: Outside anchors are required for D.P. > 50 PSF. 0
O
7}
|
o
CONCRETE ANCHOR NOTES:
I. Concrefe anchor locations at the comers may be adjusted fo maintain the min.
edge disfance to mortar joints. L\ 2 W
2. Concrete anchor locations nofed as "MAX., ON CENTER" musf be adjusted to #8 X 2-1/2" PFH WS \ #8 X 2-1/2" PFH WS 12
maintain the min. edge distance to mortar joints, additional concrete anchors / // o
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. :_. i R 3
3. Concrete anchor table: #8 X 1" PFH WS é' : — H#8 X 3/4!1 PFH WS #8 X 1" PFH WS é:’. - .‘: ] i =
TR PO e T T e e S o Hle o=t #8X3/4" PFH WS e 1,716/14
ANCHO — 4"X 4" HINGE 2
_____ \ \ —— 4" X 4" HINGE scale: N.T.S.
‘ E W A\ DWG. BY: JK
nmw " " " A CHK. BY: LFS
rapcoN® | V/ 1-3/4 1-1/2 4 HINGE DETAIL 1 HINGE DETAIL 2 Sl
ELCO . " . " TX—4432
uttRAcon®| 174 1-3/4 ! 4
SHEET _/ oOF 7

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4432-33.dwg, 1-7

© 2014 R.W. BUILDING CONSULTANTS INC.



